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Answer any three of the following :-
(A) An.organjc compound has molecular formula C,H,0,. Determi
- of its hydrogen deficiency and deduce its structural formfria fro
following spectral data. Also write name of the compounds,
IR (cm™) : 3300-2700 very broad, 1712, 1415, 1220 ¥

PMRS (ppm) : 0.9 (3H)triplet, 1.8 (2H)sextet, 2.3 (%fl)\triplct, 10.5-11.2
Q 1y 2

(1H) broad signlet.
(B) An organic compound has molecular formula C,H,g. Determine the index
of its hydrogen deficiency and deduce its s&g&ctural formula from the
following spectral data. Also write name of th¢ compound. |
IR(cm™) : 3325, 3065, 2875,1470,1018, 736,698 :

PMRS (ppm) : 2.5 (1H)broad singlet, 4.6.(2H)singlet, 7.3 (SH) multiplet
(a) Three samples are expected tQobe of 2-butanol, butanone and 3

ethoxyethane. Explain how you\ﬁ%ll choose the correct ones using their

I.R. spectra. : fb
How will you distinguish between the following pairs of compounds 2
on the basis of the Ama; \Walues in their u.v.spectra ?

(i) Butanal an ~¢rotonaldehyde it

(ii) 1, 3- Pentadiene and 1, 4-pentadiene. :
Three samples ha\a‘ng molecular formula C,H, Cl are expected to be 3

\Poropcntanes; viz. 1-chloropentane, 2,-chloropentane

isomeric mon%:ih :
and 3-chloropentane. How will you choose the correct ones using their

" PMR-spectza ?
(b) Why are ethylenic protons more deshielded than expected ?

(E) What are base peak and molecular ion peak ? Explain their significance in

e mass-spectrometry of organic compounds.
(F) (a) Givethe mass-spectrometric fragmentation pattern of 2-methylbutane.
‘wo nitrogenous organic compounds A & B form molecular ion peaks

b) 41
: é\\qat m/e 59 and m/e 60 respectively. How will you distinguish between
\f\, them in terms of the number of nitrogen atoms present, on the basis of

\\\ the nitrogen rule 7 -
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(C) Explain the use of Hofmann exhaus i methyl'atlon and de%:adatlon i %o 4
structural determination of alkaloids with 2 suitable examp .‘co'eir'le (\9 3

() (a) How will you account for the presence of following 1n 1l @

@) \Pyridine ring O

(ii) ~N-CH, group i 2

(b) How is methly heptenone converted to citral ? - v 5
(E) Complete the following reactions : /\\(7)
@) N A K
= i 2
) <ﬁ4 - Woedrg =t : ? '
)

(ii) '13 C =< -4, S ? p

M :
. - CRloB
(iii) @“” =cH - caab<°->__?°“g EN\ ¢
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(F) (a) Explain the u%\of selenium dioxide in synthetic organic chemistry 3
with suitablq?sxamples.
(b) What is Wilkinson's catalyst ? Mention its use in synthesis. 2

Answer any thre 8§he following :- - .
(A) What al;g?a-amino acids ? Explain their configuration with an example. 35
‘Write tlis preparation of a-amino acids by ‘
. \1) - Strecker's Synthesis -  (ii) Amidomalonate synthesis
(B) E()g}lain Merrifield's solid phase synthesis to prepare dipeptides. Write its 5
vantages. ;
(C)K\\Explvain the terms nucleotides and nucleosides. Draw one structure of each. 5
"\ Explain the double helix structure of DNA. |
& (D) What are conjugated proteins? Name any two conjugated protiens ? Name S
¥ any two conjugated proteins. Explain (i) Pleated sheet structure of proteins
(ii) Colloidal nature of proteins. :
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(c¢) By free radical polymerisation of tetrafluoroethen® in presc_nc'e 0\\0
peroxide, polymer obtained is ! (\9
‘(i) PVC Gy teflon. @
(iii) PVA (iv) PAN \\
@ . have high tensile strength- ' B
(p) Thermoplastics (q) «Resis AV
(r) Fibers (s) Elastomers
B) State wh i e ' (\/\;\ .
ether the following are true or false. \ 3 i
(p) When free radical polymerisation of isopre '51& carried O 2

presence of a peroxide, trans polyisoprene is gD ained.
(q) Urethanes are esters of carbamic acid. ®
(r) Bakelite is an epoxy resin. Ny
: gs) Dibuty! phthalate is used as stabilizer gé% polymers-
(C) Fill in the blanks iwth appropriate option i | :

(a) Rosenmund reduction makes use Qf—_———-—- catalyst
(i) Ruthenium o (i) Rhodium
(iii) Palladium - >
(b) is a fat soluble vi@}min
(i) Ascorbicacid ~ (i) Tocopherol
(iii) Riboflavin R |
(c) Citral contains f\\\’ isoprene unit/s
(i) One A i) Two

(iii) Three \(j\y’”

(d) In nicotine, e pyridine ring is attached t0 @ _

: 1) Pyrgfo\ lidine ; (i) Pyrrolc
(iii) Pyrazine : -

ring.

OR
iy : {
(C) Fillin the bianks iwth appropriate option :- 4
(p) Mciachloropcrbcnzoic acid is used for of alkenes.
X hydroxyation

¢ ,)\O (i) epoxidation ; (i)

7 (i) Chlorination
iodine atoms

@\‘o A molecule of thyroxine contains

\E\/ G two (ii)  three

'\?3 (iii) four i
of citral

btained as product of

N g i1
Geraniol 18 ©
QA $h . (@) reduction

\\%v (p) oxidation.
< (x) ozonolysis L
% 4eis alkalo1
i Atropine is 2 __——— ; :
W (iv) ' P ‘Belladona (q9) Cinchona
(r) Opium : L
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